Dạng 2. Chọn hệ số và công thức hóa học phù hợp điền vào dấu hỏi chấm trong phương trình hóa học 
a) Al2O3 + ? → ?AlCl3 + ?H2O
b) H3PO4 + ?KOH → K3PO4 +?
c) ?NaOH + CO2 → Na2CO3 + ?
d) Mg + ?HCl → ? +?H2
e) ? H2 + O2 → ?
f) P2O5 +? → ?H3PO4
g) CaO + ?HCl → CaCl2 + H2O
h) CuSO4 + BaCl2 → BaSO4 + ?
Đáp án
a) Al2O3 + 6HCl → 2AlCl3 +3H2O
b) H3PO4 + 3KOH → K3PO4 + 3H2O
c) 2NaOH + CO2 → Na2CO3 + H2O
d) Mg + 2HCl → MgCl2 + H2
e) 2H2 + O2 → 2H2O
f) P2O5 + 3H2O → 2H3PO4
g) CaO + 2HCl → CaCl2 + H2O
h) CuSO4 + BaCl2 → BaSO4 + CuCl2
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